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a) Para um gás ideal, temos U = NcT e pV = NRT . Num processo
isotérmico:

W =
∫ V2

V1

p dV = NRT
∫ V2

V1

dV

V
= NRT ln

(

V2

V1

)

;

∆U = 0;

Q = ∆U +W = W = NRT ln
(

V2

V1

)

;

∆S =
∫ dQ

T
=

Q

T
= NR ln

(

V2

V1

)

.

b) Num processo adiabático pV γ = p1V
γ
1 . Então:

W =
∫ V2

V1

p dV = p1V
γ
1

∫ V2

V1

V −γ dV =
p1V1

γ − 1

[

1−
(

V1

V2

)γ−1
]

;

Q = 0;

∆U = −W = −

p1V1

γ − 1

[

1−
(

V1

V2

)γ−1
]

;



∆S = 0.

c) Para o processo isocórico, temos:

W =
∫ V2

V1

p dV = p(V2 − V1);

∆U =
c

R
p(V2 − V1);

Q = ∆U +W = p(V2 − V1)
(

1 +
c

R

)

;

∆S =
∫ dQ

T
,

mas dQ = dU − pdV = (c/R)(V dp + p dV ) − p dV = −(1 + c/R)p dV . Por
outro lado T = pV/(NR), Logo:

∆S = NR
(

1 +
c

R

)
∫ V2

V1

dV

V
= N(R + c) ln

V2

V1

.


